1.1.2
WALT Recall and Use, Mulliplication Facts for the,
9 % Table
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Quick Warm Up

Flr\st,counbtmés/(ﬁr\om()to72? Camgowmanagf/wiﬂr\oublookmg/abﬂwm?
O 6 |2 18 24 30 36 42 48 54 60 66 /2

mewunb@éswidd%/andmmw%?

Now,Wmeaakword&Wés/(ﬁnom72foO. memarwg@wiﬂnoub
looking ab the screerv this time?

12 66 60 54 48 42 36 30 24 18 12 6 O

Is this as easy as counting Jorwards?






Concrete, Apparatus

Somejor\ongﬂszax\e/stackedJUng\oup&oqu. Cmnpleiﬁﬂwwﬁﬂmtodmib@ﬂwmﬂngm

hene ane . oranges in cack row : 900000000
Traware £ _roms , 900000008 -
Altogether; there are ronges : P00 O9OP ¢
9000909 P® -
We can write this as a mulbiplications number sentence. Ry e R S i ey el ©




Fact Families

Howmamé/numbfﬁsentenmthmaﬁe(ﬁovwg/(ﬁaot(ﬁwnwg?

Let's m%mmhmmo}m
First, count the columns, r\ows/mdtoi‘al/r\umbmo{lcubw

q

6 v, 9 _ 54 %

q w, 6 _ 54 6

5

54 N 6 _ q ‘3*
54 = 9 = 6 2
|

Where s the BIG number i each, number sentence’?
Ib’s/th@answepﬁonx/ondftbgoe&abﬂwstm‘tﬁon+

q

18

27

36 45

ok




Spidermary Hands

mmtoq%tobi@wf/sﬁpn&

We call this: Spidﬂwmm Hands




Spidermary Hands

. P@Wmﬂﬂtmﬂwmﬂewwoﬁw
2. Combgoun!ﬁngm&md%nxb&,stwﬁrqmthe&#,ﬁm|to|@.
3. Look/oi}hownwmé/qsgounmdftojﬁnd}.WeW{lelkwq.

10



Spidermary Hands

k. Tofind & lots of 9, BEND DOWN Jinger number 4. On
U’\E/SCXWMEJ‘NW"ZI- has beerv coloured v RED.




Spidermary Hands

S. The fingers orvthe LEF T of the finger you have bent
down are the TENS invthe answer. 3 TENS

6. The fingers orvthe RIGHT of the finger yow hame bent
dowrv are the ONES v the ansmwer. 6 ONES

/. So, & x 9 =36

TENS

3
c N

Now, let’s find, some

Spidﬂ‘mm» Hands.




Spidermany Hands

TENS o

SxY=2/

Bend, finger
number 3 dowiru




x, 4 = /2

Bend finger
r\wnbﬂm dowm



Spidermany Hands

TENS

Q% 6= 04

Bend, finger
number 6 dowin




Fluenciy |

. Complete the, number track: by counting ir 9s.

0

9

2. Dmth&cmwmthn&thr&u%hm'cmmtmg;w*J§ rnumber maze.

0 9 18 28 105 108 | 65 53 44 53
26 17 27 35 98 99 54 45 35 26
44 45 36 81 90 90 63 36 27 19
61 54 63 72 99 81 72 26 18 9
70 65 /1 a0 108 91 79 35 28 0




3. W%MWWMM'M@WQ&'W

18,27, 72,81,
36,45, 45,54,
81,90, 0,9,

45, 54, 81,90,

72, 81, 90, 99,



If you are already confident with your 9x table, you don’t need to do these questions.

Ew | Exdra Practice

Use;ﬂ'mSpLdmmhﬂnd&tﬂthpgﬂwwm%mbth&Wtﬂﬂwq w table questions.

. 3%9-

2. bw9-

3. 8%Q-

b, 9o -

a2
e A

a2
S A

b9 -

Q-

. 5wq-

. 9% 9-

Y
a2

eAs
eAs
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Reasoning

~

I know thats the: answers in the: 6% table are. DOUBLE the
answers in the: 3% table.

I think that the, answers is the: 9% table: are. FOUR times
a&bg,a&ﬂﬁﬂm&wﬂma 3mtﬂhl&

J

Is Gary comect?

Emwwmmﬂt&mﬂtmbmahdﬂ% Sturtmgzw-tih| % 3 ands | mQ,MM\'j:e;dowm



Pmﬁ&wngﬁmm%

Chﬂ}muLEmmhdhﬁmwﬁﬂmﬂ&SWﬂia

o
P
P
P L
o
A
ey
T
PPy

-

I hame more sweels
because I harve more
rows thar Ella

~N

Wheo has more sweets?

Pl e
P
PPl
PPl
&

T hame more sweets than
Chris because 1 hamve

Write,
ﬂﬂ&MﬁEﬁﬂHﬂHﬁ&PTfﬂd%ﬂhkLmuLm@hmmHmﬂﬂﬁmmHMQ A mathematical,
using

vocabulary.



E xtra Practice

tables, g,owcould/use Hit the Button.
httpjs/:/ / wwwtx}pmmkﬁ/co«uk/ nmaths- 9,(11T\E)5/ hit-the~-bulton

Also, practise counting irv 6s forwards (fromv O to /2) and, backwards (fromv 72 to- O).
Practise counting v Y9s too (from O to 108). Carv yow counts backwards from, 108 iny Ys7?


https://www.topmarks.co.uk/maths-games/hit-the-button




AﬂﬁN\/‘@l"Sf

Fhlerwé,|
. Complf,te/the/nwnbﬂ\b\ock/b%/mnﬁng/qu«
O, 9, 18, 2/, 36, 45, 54, 63, /2, 81, 90, 99, |08

2. meﬂwcome@hrwﬂvwmgheaﬂv‘wunﬁngwq&’nwnbmmm.

0 q 18 28 105 108 | 65 53 44 53
26 17 27 35 a8 9 54 45 35 26
44 45 36 81 90 490 63 36 | 27 19
61 54 63 /2 99 81 72 26 - 18 9
70 65 71 80 108 91 79 35 28 0




FUJEI\L‘,H/I
3. Wh&@ﬂwnﬁxbnwnbm}oneadw‘cowmtmg/quf Seqience.

18, 2?,& 72, E1,qo
36, 45,& 43, 54,63

Bw,an,ﬂ 0, 9.'_8

45, 54, ﬁ 81,90, 19

72, 81, ﬂ 90, 99, @



ﬂuﬂm{.’plEﬂumhm

Use;theSpidmmhﬂnd&t&hglpHﬂwwm%nubthamtﬂtheq w table questions.

. 3%9-27

2. 6x9-54

3. 8=4-72

b, 9o 2-18

&2
&2

&2s)
&2

5. 4 %9-36

6. 9% 7 -63

7. 5w9-45

8. 9% 9- 8l

a2
e2s

&2
e2s



2

F

|16
17
|18
19
20
21

45

54
18
qq
54
27

8l

6
4
|
4
3

8l

36
90
108

|0

|2

22
23
24
25
26
27
28
29
30

72

8

|18
63

10

qQq

|10
9

12
13
|4
IS

108

|2

8l



3 x3- q
_____________________ ot R S
6 Lo 3 = |8
9 " 3 = 27
12 " 3 = 36

Gﬂ.ry: is not corpech.

I.bgowﬁme&ﬂw:urwtﬂ-ﬂw 3% table [nuﬂhple&qb 3) hg;FDUH, gowgebﬂw-
answers to the |2mtaﬂe-{mdﬁ;ﬂmo}- 12) because 3 » & = |12

Tngebﬂwmwt&ﬂmqmtﬂﬂ&{mdhple&o}q},gﬂwneedtﬂﬁmmﬂw 3%
tahl.efﬂnﬁweps:hg;:i because: 3 % 3 = 9



Problem, Sobving,

The; childreny both, hawe, the, same, numben of, sweets.
Chris has 4 % 5 = 45 sweets
5 10 15 20 25 30 35 40 45
Fllo has 5 % 9 - 45 sweets
q 18 27 36 45
When you multiply numbers, yow can change, the, order of the, numbers yow are
multiplying and, you wills still, get the, same, answer.



